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or water in one dav, If he drinks same amount or water every day, then how many srasses or water
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A. 70 B. 40 c. 50 D. 65As the correct answer is option A, you must darken the circle corresponding to option A on the oMR sheet.7' Rough work shourd be done in the brank space provided in the bookret.8. Return the OMF Sheet to the invigilator at the end of the exam.9 Please fiil in your personar detairs in the space provided before attempting the paper.
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Varun's Mathematics exam will be on third Thursday
of February 20XX. On which date his Mathematics
exam will be held?
A. 22nd February

B. 16th February

C. 1Sth February

D. 21"1 February

groups of 4 flags each can be formed from the given flags.
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A.3 8.4 c.2

O Select a figure from the options which will

AW
given figure pattern.complete the
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is exactly in the middle of the given arrangement.
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O Find the missing alphabet in the given alphabet pattern.
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D.KA.B B.H
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Select the CoRREcr match of the shape that can be drawn using the given solids.Affia Bffi
cffio
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Select the odd one out.

The lady is making breakfast for her famity. rt must be

A. Afternoon

B. Night

C. Morning

D. Evening

ffi
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There are

A.5
B.3
c.4
D.6

brinjals inside the basket.
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o H[fl:},["r to,'owins options shows the expanded form of the number ffi";

wwwwwwwwwwwwwww
A. 10 + 6 B. 10 + 5 C. 1+6 D. 1+5
There is/are month(s) in a year that has/have exacfly 29 days in a leap year.A.0 B.1 c.2 D.3
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The difference between the greatest and the smallest number shown inthe mobile phone is
A. 64

B. 84

c. 8't

D. 28 ,4,.,v'
The given object can
A. Roll only
C. Both roll and slide

B. Slide onty
D. Neither roll nor slide
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8.74+11 =85
D.7A+ 8=78

A. 73 + 12 = 85

C.71 +13=84

which of the following options has same cost as the amount shown below?
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is the longest and --- is the shortest.

A. Toothpaste, Brush

B. Brush, Ribbon

C. Ribbon, Toothpaste

D. Brush, Toothpaste

Toothpaste

Brush
Hibbon

is same as the number of butter-flies shown here.

B.2tens3ones
D. ltensSones

- '€ f' .'f - f - .f ^ t - r : !*io *id -;$' *_i- *fd ".it *.;* *.io' ";d

A. ltens5ones
C. ltensTones

@ Which of the foltowing can hotd maximum quantity of water?

^fficq#B.Affi D.

@ Find the missing vatue,

B9A.

7 tens 5 ones + 2 tens 4 ones = ?

C. 9986B. D. 98

Ayan had 22 stickers. He bought 7 more stickers from the store, How many stickers
does Ayan have now?

A. 35

c. 42

B. 40

D. 29

@ Kanika bought three packets of milk as shown here. Find the total cost of three such
packets.

A. {90
c. {60

B. {BO

D. t70
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@ ln a farm, there are 4lanimals in all. ll 23 otthem ,r" 
*WMff, 

,nO rest are @,
then how many goats are there in the farm?

A. 20 B. 22 c. 18 D. 19 f
-UJ@ Ankita's father gave her the given toy on her birthday. The shape

of the given toy is

A. Cube

C. Cylinder

B. Sphere

D. Cuboid

@ Aanya has two sticks P and Q. Stick P is 

- 

units longer than stick Q.

Stick P I

stickoW I

Each @ stands for 1 unit.

A,2 8.4 c.6 D.8

Aman donates 12 food packets on Saturday and 15 food packets on Sunday to needy

people. How many total food packets did he donate on both the days?

A. 27 B. 17 c. 28 D. 25
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Which of the following a

Wearing shoes

ly done, when a child gets ready for school?

t/. D. All of these

ctivities are general

ffiffi
Eating breakfast

B,A.

D.2
ffi& left with her.

c.4

Brushing teeth

@ Aarohilr*W ffiffiffie shesave @e
to her brother. There are

A"5 8.3

Smriti has a kite having some numbers written on it. The number
name for the greatest number written on the kite is

A. Ninety

C. Thirty one

B. Seventy nine

D. Twenty four
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@ The weight of Aastha's doll is equal to 10 marbles. What will be the weight of two such
dolls?

A. 5 marbles B. 2 marbles C. 20 marbles D. 10 marbles

(1)

(21

(p)

(q)

Golumn-Q

3-1=2

4-2=2

(3) 5-2-3

(41 6-3=3

,MMMMMN
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@ Match the objects given in Column-P with their correct subtraction sentence given in
Golumn-Q and select the CORRECT option.

Golumn-P

ffiffiffiWW
;';'x

(p)

A. (2)

B. (3)

c. (3)

D. (1)

(q)

(1)

(1)

(4)

(2)

(r)

(3)

(4)

(2)

(4)

(s)

(4)

(2)

(1)

(s)

@ Amit has the following amount of money.

(*0

He bought a packet of pencils of ( 32 and a
amount is left with him?

A. <22 B. <32 C.

ffib- e"*.,i"]ffi
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packet of crayons of t 43. How much

<25 D. t30

N
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@ Select the INGORRECT option.

A. The month that comes just before August is Juiy.

B. The total number of days in 3 weeks is 21.

C. There are 366 days in a non-leap year.

D. When the sun rises, it is morning.

iMO I Class-1 | Set-C I Level 1 ISQF
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@ Observe the given picture carefully and state T for true and F for false'

(p) There

(q) There

(p)

A.T
B.T
C.F
D.F

are 8 rectangles in

are 4less squares

(q)

T

F

T

F

the given Picture.

than circles in the given Picture'

B.

@ Abaskethas

basket. Which of the following

in the basket?

A. 0123 4567891011

'',.'! ,r': '!1,.t '

number lines

r,ir,h :.':",'?3

't. $umit put ' i'l

represents the total

't"i.l l:;.,'i ''i 
in the sarme

.

number of mangoes

1o 11 12v!l14
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